Verwendung

Pos. Nr.

PPN AD©O®NO O A W®WN

15
16
17
18
19
20
21
22
23

24

25
26
27

28
29
30
31
32
33
102

ESD-48-5.0
ESD-48-10

Art.Nr. Menge

796420-02912
3400022216
70091204010025
70012704000010
70043304000010
70799104008025
3400022204
70706-43101432178
3400022211
3400022210
3400022206
70091304008045
72106-1680-370-1
70012702000008

OO =2 =2N =220 0 0 00 =

N
o

70093404000008
3400022217
70706-4311000200
340002221201
340002221202
340002221203
70706-4300700250
70706-4301400200
70091202008025

70012504000008

340002221301
340002221302
70706-616011-25
70706-616011-22
70706-616011-28
71211-60520201
71211-60509828
340002221303
70093304008025
3400022218
6600000341
6600000342
6600000343
6600000344

RN
_\_\_\_\_\o)_\_\l\)_\_\_\_\_\os.[;o)_\m_\_\_\_\_\mo;)

Teileliste

Bezeichnung

Yanmar SD25, Saildrive Getriebe Unterteil

Antriebskopf unten
Innensechskantschraube M10x25
Federring B10

Unterlegscheibe 10,5
Senkkopfschraube M8x25
Flansch unten

O-Ring

Dichtungsscheibe

Druckscheibe

Druckring innen

Gewindestift M8x45
Dichtscheibe 8,4x19

Federring B8

Federring B8

Sechskantmutter M8
Antriebskopf oben

O-Ring

Olstutzen

Oleinfiillrohr

VerschluRstopfen

O-Ring

O-Ring
Innensechskantschraube M8x25
Innensechskantschraube M8x25
Unterlegscheibe 8,5
Unterlegscheibe 8,5
Distanzbuchse

Distanzbuchse

Taperbuchse

Taperbuchse

Taperbuchse

Kupplung RNT

Zahnkranz

Keilwellenhilse
Sechskantschraube M8x25
Druckring auf3en

Motor 5kW, 48V, Luftkihlung
Motor 5kW, 48V, Wasserkihlung
Motor 10kW, 48V, Luftkihlung
Motor 10kW, 48V, Wasserkihlung

Anmerkung

ESD-48-10
ESD-48-5.0

ESD-48-10
ESD-48-5.0
ESD-48-10
ESD-48-5.0

ESD-48-10
ESD-48-5.0

ESD-48-5.0
ESD-48-5.0
ESD-48-10
ESD-48-10



